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Ky 0.4 [G]
Kv 0.2 [G] (1/2)x Ky
G 98 [m %
( ) M 50 [kg]
Fy 0.20 [kN] (1/2)% Ky
Fv 0.10 [KN] Kyx Mx G
H 715 [mm]
D 300 [mm]
B 809 [mm]
hg 293.6 [mm]
ds 130 [mm]
d 319 [mm]
Lg 1395 [mm] (d-D)/2+d
n 411
() nt 2[ ]
41 ]
A 34.7 [mm?] M8 6.647 [mm]
ft 176 [N _mm?] 1760 [kaf cm?]
55400 fs 101 [N _mm?] 1010 [kgf cm?]
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Q 0.05 [kN] Fy N 49 [kgf]
Rp1 0.0045 [kN] {Fyx hg (Mx G Fy)x ¢} (dx nt) 0.45 [kgf]
Rpz 0.22 [kN] {Fyx hg (Mx G Fy)x g} (dx nt) 21.9 [kgf]
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ft 176 [N _mm?l 1760 [kaf cm?]
gt 0.129 [N mm?] ot ft Ro A 1.29 [kgf cm?]
2)
fs 101 [N mm? 1010 [kaf cm?]
T 14N mm?| T fs Q A 14 [kgf cm?]
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Tts 244 [N mmd] fts ft fts'=ft 1.4ft-1.61 2441 Tkaf cm?l
fts' 176 [N__mm?] 1760 [kaf cm’]
gt 0129 [N mm?]] ot fts' 1.29 [kgf cm?]
g tr ' M8
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Ly 40 cm 40 mm  ( Lp
Fc 1.8 [kN/cm?] | 18 MP
0.010 =1/6x Min Fc/30 0.05+Fc/100
Ta 3.0 [kN Ta=6mt L, p Ta 120 kN
Ta 3.0 [kN] 300.0 [kgf]
Rpy 0.0045 [kN] Ry Ta 0.45 [kgf]
Ta Ry




